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Fórmulas de las derivadas de las funciones elementales

Función Derivada

y = xn y0 = nxn−1

y = f(x)n y0 = nf(x)n−1f 0(x)
y = ef(x) y0 = ef(x)f 0(x)
y = af(x) y = af(x)f 0(x)loga

y = logf(x) y0 = f 0(x)
f(x)

y = logaf(x) y0 = f 0(x)
f(x) logae

y = senf(x) y0 = f 0(x)cosf(x)
y = cosf(x) y0 = −f 0(x)senf(x)
y = tgf(x) y0 = f 0(x)

cos2f(x) = f
0(x)(1 + tg2f(x))

y = senhf(x) y0 = f 0(x)coshf(x)
y = coshf(x) y0 = f 0(x)senhf(x)

y = tghf(x) y0 = f 0(x)
cosh2f(x)

y = arcsenf(x) y0 = f 0(x)√
1−f(x)2

y = arccosf(x) y0 = −f 0(x)√
1−f(x)2

y = arctgf(x) y0 = f 0(x)
1+f(x)2

y = arcsenhf(x) y0 = f 0(x)√
1+f(x)2

y = arctghf(x) y0 = f 0(x)
1−f(x)2


